TY—J SUMPORIESAIIOIF A
— A DEAY 2T T TR

A{TMRIBEEE (EPD) ERHATFRBXNGET-14-8
Z43%ES © JR-AI-23516E KANDA SQUARE GATE

. https://ecoleaf-label.jo
E/OL——EEH#

m 4—in—1 Monochrome Laser Printer
at your side M FC_L2750DW for Europe

59 —T ##%H &%t / BROTHER INDUSTRIES, LTD.

BEEHAI ERES JR-AI-23516E
EFAPCRES PA-590000-AI-08
HE1EHD
PCR% EfRA LR (558)R]
BEXSREE VNG|S 2024448198
LB iid) OHRRERE WIIAatEE 2024448 11H
ARG, A7, . (5 - HERFEIE, B - UYL HREES T S RF RIS
REES JV-AI-23516E
REOBRN, B - Hx REFEMHIRE 2029544108
A5 : MFC-L2750DW PCRLE1—-0DEi
I35 (ESRZFAE) REBSE 20235 9A 1H
- i8R ARN  E/UOEPAR LZER s EZ
P RARHRTAX A4 (— A EE A S R 5 T L )
- BARET X A4 EoEIREE*
« 2—)\—G3xdt NEPREEE /NE REE
- AMAEE : 12.0kg. BE&EAh : 2.7kg
- BEmmEEnR ISO14025(CH > TeAEERUT — 5 DI UTZA&EE
- BiR/ \B\IRLAN OIP9EB m H4E0
XARBE(EEuropeft@IITY, *2 27 N\ R F S R B R AADRIEDBA R, S RTLARIEITS
TEERORHE .
BULWSbhtE %
I3 -TEHARHT
inml—ecoleaf-jimukyoku@brother.co.ip https://global.brother/ja

Tix&ES ¢ JR-AI-23516E


mailto:inml-ecoleaf-jimukyoku@brother.co.jp
https://global.brother/ja

I7y—7 SUMPORIESANIT OIS A
_ —BREEAY 2T T TR RS
A{TMIRIEE S (EPD) FRETFABRAMET-14-8
Zi3ES . JR-AI-23516E KANDA SQUARE GATE
https.//ecoleaf-label.jo

OS5A THA V) EFhER

0% 20% 40% 60% 80% 100%
S/RZH IPCC 2013 GWP 100a 300 |kg-CO2eq =’
o
v 0.16 |kg-SO2eq
| o%o0% |
BRHE 0.012 | kg-Sbeq
m DR FERE mQEE n QA
B @FEMA-HHEE nOEE-VHM1IIL
P9iR =| Ba{yy ait | OREMHEE Q%= Qi |omAm - #5EE| oRR - UYL
SUEZEE) IPCC 2013 GWP 100a | kg-CO,eq | 3.0E+02 || 1.1E+02 | 4.5E+00 | 8.6E+00 | 1.6E+02 | 2.4E+01
[ivde2le kg-SO,eq | 1.6E-01 7.8E-02 3.2E-04 7.5E-03 6.6E-02 1.1E-02
BREE kg-Sbeq 1.2E-02 8.4E-03 1.3E-05 3.6E-05 3.8E-03 6.1E-06
@ B 1 S 2R © Jyy N &S B9 ASHKERYE
HE Ba{51 7 - ME (EREES) Ba{51
IEBATIREEIR 1.2E+01 kg F=p e 2.6E+00 kg
IEBEMREIRILF— 4.4E+03 MJ SuUS 5.7E-02 kg
BETEER 2.7E+01 kg FILE=DA 7.6E-02 kg
BERRETRILF— 8.4E+01 MJ ZOfMERE 0.0E+00 kg
RIKDHEE 2.9E-01 m3 TSRAFvT 7.5E+00 kg
N 1.9E-01 kg
HSR 7.2E-01 kg
iRl N 2.2E+00 kg
EERBER 5.7E-01 kg
Z DAt 7.6E-01 kg

CRERBRICET DEMIEH
BREEDETESE (S FUA)
D702V (ESRXFAE) . FBEMERAHAR : 58, X3S %48,0004%
ERAERER/\F—>  ITU-T No.1F v — . FIRIARERESREICESFHR. AR (EEuropeftml

©-1.€DMDRIERERH
ARBOMBEIERE EFBHRD bF—RURBSEARSREE(FISO14001 FEER TIHICTITHNTVET,

QERUEZRT—IDERS
IDEA v2.1.3 RUSUMPORIESNILTOJ S LAEREEA v1.10 ZEA L.

@5

0 —SFEHEDHEF. PCRELUVERE - ESHEEZSRULTIIZE0,
O LLEXC DT BE - EERRE(CRESINERGEZEBEUEESICUMRDENER A
(B2885%URL : https://ecoleaf-label.jp/regulation/)
ZixES . JR-AI-23516E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

